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1.Which definition best describes the implementation service component within the implement phase? 

A. providing a step-by-step plan that details the installation and service-commission tasks required in 

order to create a controlled-implementation environment that emulates a customer network 

B. assessing the ability of site facilities to accommodate proposed infrastructure changes 

C. developing and executing proof-of-concept tests, validating high-level infrastructure design, and 

identifying any design enhancements 

D. installing, configuring, and integrating systems components based on an implementation plan 

developed in earlier phases 

E. improving a customer's infrastructure security system 

Answer: D  

2.Which Cisco security tool can best determine if a Cisco ISR router is properly secured? 

A. Cisco SDM Security Audit 

B. Cisco Security MARS 

C. Cisco Security Agent MC 

D. Cisco Security IntelliShield 

E. CAN 

Answer: A  

3.In the plan phase, network readiness assessment addresses which customer need? 

A. an assessment of the preparedness of the customer's existing system infrastructure to support a 

proposed solution 

B. a comprehensive design that has been customized based on the operations processes, network 

management processes, and tools of its system 

C. an in-depth assessment of the operational environment required to support the operation of both the 

current and planned solutions 

D. the optimal technologies for supporting its business requirements and objectives 

Answer: A  

4.In the design phase, which service component provides the customer with a comprehensive design? 
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A. Implementation Plan 

B. Detailed Design Development 

C. Project Kick-off 

D. Staging Plan 

E. High-Level Design 

Answer: B  

5.Refer to the exhibit. What are two Cisco IOS commands that would verify connectivity between routers 

R1 and R2? (Choose two.) 

 

A. show cdp neighbor 

B. show controllers serial 

C. show frame-relay lmi 

D. show ip route 

E. show running-config 

Answer: A, D 


